Equations:
	Kinematic Equations
	Missing Variables

	                                               ∆x = ½(a)(t2) + (Vi )(t)
	          Velocity (Vf)

	                                                   Vf =Vi + (a)(t)
	     Displacement (∆x)

	                                              Vf2 = Vi2 + 2a(∆x)
	              Time (t)

	                                              ∆x = ½(V​f + Vi)(t)
	       Acceleration (a)


	Name of Equation
	Formula

	Speed


	s=d÷t


	Displacement


	∆x = xf – x​i

	Velocity


	V=∆x÷t

	Acceleration


	a=∆V÷t

	Momentum


	P=vm

	Force


	N=Kg*m/s2

	Impulse

	I=F∆t=∆v*m

	Law of Conservation of Momentum

	(vminitial)total=(vmfinal)total

	Weight (W) N(kg*m/s2)

	W=mg (weight=mass*gravity)

	Newton’s 2nd Law

	Fnet=ma (Net force=mass*acceleration)

	Coefficient of Friction

	μ =Ff÷FN  (Friction Force/Normal Force)


	Centripetal Acceleration

	AC=V2÷r

	Centripetal Force

	FC=mv2÷r

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	


